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6. (10 points) Find
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7. (10 points) Is
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5. (15 points) Let f(x) = x* =4x% 4 5 for -2 < x < 2. Sketch the graph of f(x) by making a table which
shows

(a) theintervals on which the function is increasing or decreasing and the local extremum values, and

(b) the intervals on which the function is concave up or down and the inflection points.

‘C/(’x): bt 8x = hn (27-2)
fix)=0 & x=9°, 7= V2.

FH(%): 12x%-8 = 4 (@x*-2)
Plx):0 & x=E|7%.

£lec)

7
_J[’ "tx) ; /
7

| \
o - "“7'(.'; | W V2

&_(T— ): {6"4()"“7-’-5-

)= 4-~9t9=4
(@)= 47807 s as
P )= £ -t 47e BEEER S 2



M_:nh l()rl.llrM:uh “"’,',-‘ o }'ii,”,",’,' I_Zr.f{rrgﬂ - Jj’gn 20f3

3. (10 p()“]"’) l';\’”l“;l“' [_x‘l'(_l(':’ ,l(l.l.

Ue X dys selxdx = du= 44X v= taax
,
KXSC’_EIXOQX = x‘hmxﬂ g'l‘qnx‘:i)(
g-{'o(r\)co()(.: gs(nx dx = S'é&:*@\lu]“f'c—:—ﬂh}(aw}f—c_

cosX u=coyx
du= —Sl\f\‘fcﬂ’lx

§7c seC xdy = stk 4 n [eosx| +C

4. (15 points) Find the area of the bounded region lying between the curves y = —x?+5x-4and y = -x~4.
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8. (10 points) Find the equation of tangent line to the curve
3 - |0g_-’ X= }12 o |

at (1,0)-
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g FIO point.s) A hotel finds that it can rent 200 rooms per day if it charges 40TL per day. For each 1TL
increase in rental rate 4 fewer rooms will be rented per day. To maximize revenues, how much should
be charged for each room per day?

Le;t- (oo ™M l‘e,n‘f)= 4O+ X .
Then (hUmbU o] (oons renﬁd)= 200 -4x

Revenve = &= (#0+x) (200 -4%).
R '(x)= (200-kx) ~ 4 (40+4x)= 40O-8x
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